

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

#### **TAX INVOICE**

CHINA TAIPING INSURANCE (S) PTE LTD 3 ANSON ROAD #16-00

SPRINGLEAF TOWER SINGAPORE 079909

INV No. AC2003243

INV Date 17/04/2020

Reference CC6/CTI19005562/Uea3n2

Code CT



#### PROFESSIONAL SERVICE FEE

Vehicle No. SMG 5094E

Insured Veh. GBA 232T

Claim No. SNM19D201301

Policy No. DMCVSN3051491801

Accident Date 23/03/2019

Inspection Date 28/03/2019

Description	Total
Third Party Express Settlement	400.00
Subtotal	400.00
GST (7%)	28.00
Grand Total	428.00

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

**LKK Auto Consultants Pte Ltd** 

HYN



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to Federation Internationale Des Experts En Automobile							
CHIN	CHINA TAIPING INSURANCE (S) PTE LTD Ref : CC6/CTI19005562/Uea3n2						
	3 ANSON ROAD #16-00 SPRINGLEAF TOWERSINGAPORE 079909		Date: 17-04-2020 Code: CTI				
1.	1. Policy Particulars :- THIRD PARTY CLAIM						
	Insured Veh.	GBA 232T	Veh. Inspected	SMG 5094E			
	Policy No.	DMCVSN3051491801	Coverage (\$)	0.00			
	Claim No.	SNM19D201301	Excess (\$)	0.00			
	Assign From		Assign Date	28/03/2019			
2.		Vehicle Partic	culars & Condition				
	Make & Model	TOYOTA SIENTA HYBRID (A)	c.c	1496			
	Engine No.	HIDDEN	Year of Reg.	2018			
	Chassis No.	NHP1707109046	Colour	SILVER			
	Odometer	23176	Steering	IN ORDER			
	Brakes	IN ORDER	Modification	NIL			
	General	GOOD					
3.		Condition	ons of Tyres				
		Size	Make	Balance			
	R/H Front Tyre	185/60 R15	BRIDGESTONE	8 mm			
	L/H Front Tyre	185/60 R15	BRIDGESTONE	8 mm			
	R/H Rear Tyre	185/60 R15	BRIDGESTONE	8 mm			
	L/H Rear Tyre	185/60 R15	BRIDGESTONE	8 mm			
4.	,	Description	on of Damages				
	THE VEHICLE SUS	STAINED DAMAGES AT THE REA	AR AND FRONT N/S PORTIC	ON.			
	DAMAGES SEE DI	ETAILS.					
5.		General	Information				
	Accident Date	23/03/2019	Inspection Date	28/03/2019			
	Survey held at	LEE BROTHERS AUTOMOTIVE	PTE LTD				
		1 KAKI BUKIT AVENUE 6 #02-47 AUTOBAY SINGAPORE 417883					
5a.		Re	emarks				
	A)THE INSPECTION B)IN ACCORDANCE	ON WAS CONDUCTED ON A"WIT CE TO YOUR INSTRUCTIONS, W	HOUT PREJUDICE" BASIS. E HAVE NOT AUTHORISED	REPAIRS.			
5b.			Days of Repair				
	ESTIMATED NORI	MAL PERIOD FOR REPAIR:	8 Working Days				
	•		1				



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMG 5094E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR WINDSCREEN MOULDING	NECESSARY	210.91	210.91
1	REAR TAILGATE	BADLY DENTED	1,335.90	1,335.90
2	REAR TAILGATE HINGE RH/LH @\$66.10	NOT NECESSARY	132.20	-
2	REAR TAILGATE DAMPER RH/LH @\$291.50	NOT NECESSARY	583.00	-
1	REAR TAILGATE RUBBER	TWISTED	399.60	399.60
1	REAR TAILGATE LOCK	DENTED / JAMMED	509.75	509.75
1	REAR TAILGATE LOCK REMOTE	NOT NECESSARY	203.60	-
1	REAR TAILGATE KEYLESS SMART	CRACKED	303.15	303.15
1	REAR TAILGATE INNER TRIM	DEFORMED / TORN	415.00	415.00
1	REAR TAILGATE WIPER BLADE	NOT NECESSARY	85.90	-
1	REAR TAILGATE WIPER ARM	NOT NECESSARY	101.40	-
1	REAR TAILGATE WIPER MOTOR	JAMMED	559.30	559.30
2	REAR TAILGATE NUMBER PLATE LAMP @\$69.10	NOT NECESSARY	138.20	-
1	REAR TAILGATE NUMBER PLATE GARNISH	CRACKED	281.60	281.60
1	REAR TAILGATE OPENING CONTROL SWITCH	DAMAGED	144.85	144.85
1	REAR TAILGATE EMBLEM LOGO	NECESSARY	83.70	83.70
1	REAR TAILGATE EMBLEM HYBRID SYNERGY DRIVE	NECESSARY	75.20	75.20
2	REAR TAILGATE REFLECTOR RH/LH @\$281.55	CRACKED	563.10	563.10
2	REAR TAILLAMP RH/LH @\$395.40	CRACKED	790.80	790.80
1	REAR TAILLAMP PANEL HOUSING LH (OUTER)	DENTED	395.40	395.40
1	REAR TAILLAMP PANEL HOUSING LH (INNER)	TO REPAIR SEE LABOUR	285.25	-
1	REAR BUMPER	DISTORTED	727.10	727.10
1	REAR BUMPER TOW COVER	CUT	65.90	65.90
1	REAR BUMPER REFLECTOR LH	NOT NECESSARY	69.20	-
1	REAR BUMPER PROTECTOR-CENTRE	DISTORTED	299.60	299.60
2	REAR BUMPER PROTECTOR RH/LH @\$245.10	N/S CUT	490.20	245.10
2	REAR BUMPER SIDE RETAINER RH/LH @\$69.50	N/S BENT	139.00	69.50
1	REAR EXHAUST BOX	NOT NECESSARY	971.40	-
2	REAR EXHAUST MOUNTING @\$56.10	NOT NECESSARY	112.20	-
1	REAR END PANEL-OUTER	BADLY DENTED	581.40	581.40

Report Ref No. CC6/CTI19005562/Uea3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR END PANEL-INNER	BADLY DENTED	606.10	606.10
1	REAR END PANEL GARNISH	DISTORTED	281.60	281.60
1	REAR SPARE TYRE PANEL	TO REPAIR SEE LABOUR	855.29	-
1	REAR SPARE TYRE PANEL TRAY	TWISTED	541.75	541.75
2	REAR SPARE TYRE PANEL CARDBOARD RH/LH @\$313.75	N/S DEFORMED	627.50	313.75
1	REAR FENDER LH	TO REPAIR SEE LABOUR	955.95	-
1	REAR FENDER INNER PANEL LH	TO REPAIR SEE LABOUR	598.60	-
2	REAR FENDER INNER TRIM RH/LH @\$703.10	N/S TWISTED	1,406.20	703.10
2	REAR FENDER LOWER SHIELD RH/LH @\$292.10	NOT NECESSARY	584.20	-
1	REAR FENDER OUTER COVER LH (TOP)	CRACKED	415.60	415.60
1	FRONT BUMPER	DENTED / DEFORMED	808.40	808.40
1	FRONT BUMPER TOP RUBBER	NECESSARY	145.20	145.20
1	FRONT BUMPER LOWER CENTRE GRILLE	GRAZED	680.50	680.50
1	FRONT BUMPER EMBLEM LOGO	NECESSARY	83.70	83.70
1	FRONT BUMPER FOG LAMP COVER LH	GRAZED	210.40	210.40
1	FRONT BUMPER LOWER LID	NOT NECESSARY	395.40	-
1	FRONT BUMPER FOAM	NOT NECESSARY	155.80	-
1	FRONT BUMPER REINFORCEMENT	NOT NECESSARY	397.10	-
2	FRONT BUMPER SIDE RETAINER RH/LH @\$110.40	N/S BENT	220.80	110.40
1	FRONT HEADLAMP LH	CRACKED	978.10	978.10
1	FRONT FENDER EMBLEM HYBRID	NECESSARY	74.10	74.10
1	FRONT FENDER COWLING LH	NOT NECESSARY	255.60	-
1	FRONT WHEEL HUB CAP LH	CUT	198.20	198.20
1	FRONT WHEEL RIM LH	NOT NECESSARY	315.00	-
1	FRONT SHOCK ABSORBER LH	NOT NECESSARY	499.15	-
1	FRONT LOWER ARM LH	NOT NECESSARY	545.10	-
1	FRONT STABILIZER BAR LINK LH	NOT NECESSARY	168.20	-
1	FRONT DRIVE SHAFT LH	NOT NECESSARY	1,024.10	-
1	FRONT KNUCKLE ARM LH	NOT NECESSARY	654.10	-
1	FRONT KNUCKLE BEARING LH	NOT NECESSARY	210.60	-

Report Ref No. CC6/CTI19005562/Uea3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LESS 25% DISCOUNT		-6,486.54	-3,551.94
			19,459.61	10,655.82
	SPECIAL NETT ITEMS			
1	REAR WINDSCREEN SPONGE TAPE (SN)	NECESSARY	20.00	20.00
1	SET REAR WINDSCREEN SEALANT (SN)	NECESSARY	80.00	40.00
1	REVERSE CAMERA (SN)	SHORTED	350.00	200.00
1	SET REAR NUMBER PLATE WITH CASING (SN)	BENT	50.00	40.00
1	SET REAR TAILGATE INNER TRIM CLIPS (SN)	NECESSARY	45.00	45.00
1	SET REAR BUMPER REVERSE SENSOR (SN)	SHORTED	280.00	200.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	35.00	35.00
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	45.00	45.00
1	SET FRONT FENDER COWLING CLIPS (SN)	NOT NECESSARY	35.00	-
1	FRONT TYRE LH (SN)	SERVICEABLE	200.00	-
			1,140.00	625.00
	LABOUR			
	TO KNOCK OUT DENT, CUT/WELD REAR PANEL, REAR SPARE TYRE PANEL, REAR FENDER LH AND REPLACE ACCIDENT PARTS. INCLUSIVE OF THE REPAIR OF REAR TAILLAMP PANEL HOUSING LH (INNER), REAR SPARE TYRE PANEL, REAR FENDER LH AND REAR FENDER INNER PANEL LH.		2,000.00	1,400.00
	TO SPRAY PAINTING ON ACCIDENT PORTION.		1,500.00	1,400.00
	TO CHECK FRONT AND REAR WIRING.		50.00	30.00
	TO REMOVE,REFIX REAR WINDSCREEN.		120.00	120.00
	TO TRANSFER REAR TAILGATE PARTS.		100.00	60.00
	TO REMOVE,REFIX REAR CUSHION AND INNER TRIM.		120.00	80.00
	TO REFIX REAR CAMERA,REPLACE REVERSE CAMERA AND REVERSE SENSOR.		150.00	50.00
	TO REMOVE,REPLACE REAR EXHAUST BOX.	NOT NECESSARY	120.00	-
	TO REMOVE,REFIX REAR QUARTER GLASS.	NOT NECESSARY	60.00	-
	TO REMOVE,REFIX FUEL TANK.	NOT NECESSARY	120.00	-
	TO REMOVE,REPLACE FRONT UNDERCARRIAGE.	NOT NECESSARY	280.00	-
	4 WHEEL ALIGNMENT.		80.00	60.00

Report Ref No. CC6/CTI19005562/Uea3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO TUFF KOTE.		90.00	80.00
			4,790.00	3,280.00
	GRAND TOTAL		25,389.61	14,560.82

RECOMMENDED COST OF LUMP SUM REPAIRS		11,600.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC6/CTI19005562/Uea3n2

CHUA KANG SENG

**Licensed Appraiser**